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NEW QUESTION 1
A Product Owner is needed for every:
(choose the best answer)

A. Product.
B. Portfolio.
C. Program.
D. All of the above.

Answer: A

Explanation:

The Product Owner is the sole person accountable for managing the Product Backlog and ensuring the value of the work the Scrum Team performs. The Product
Owner is one person, not a committee. The Product Owner may represent the desires of a committee in the Product Backlog, but those wanting to change a
Product Backlog item’s priority must address the Product Ownerl. The Product Owner is responsible for the product and its outcome?2.

A product is a vehicle to deliver value. It has a clear boundary, known stakeholders, well-defined users or customers. A product could be a physical product, a
software product, a service, a project, or something else3. A product has a product vision, which is the overarching goal of the product, the reason for creating it,
and the impact it should have on its customers and users4.

A portfolio is a collection of products or projects that are aligned with a strategic goal or an organizational unit5. A program is a group of related projects or
products that are managed in a coordinated way to obtain benefits and control not available from managing them individually. A portfolio or a program may have a
portfolio or program manager, who is responsible for overseeing the alignment, prioritization, and governance of the portfolio or program . However, these roles are
not equivalent to the Product Owner role, as they do not have the same accountabilities and authorities as the Product Owner.

Therefore, the correct answer is that a Product Owner is needed for every product, not for every portfolio or program. References: 1: Scrum Guide 2:
Understanding and Applying the Scrum Framework 3: Ma Products with Agility 4: [Product Vision] 5: [Portfolio] : [Program] : [Portfolio Management] : [Program
Management]

NEW QUESTION 2
Complete this sentence: The more uncertain you are about customer needs or market desires (choose the best two answers)

A. the smaller each release should be.

B. the more you should focus on validating customer needs.

C. the more likely it is that you should invest in a different product.
D. the more important a risk management plan becomes.

Answer: AB

Explanation:

Verified Answer: A, B

Very Very Short Explanation

In the context of Scrum and the PSPO Il guidelines, when there is uncertainty about customer needs or market desires, it is recommended to make smaller
releases to allow for quicker feedback and adaptation (A), and to increase the focus on validating customer needs to ensure that the product development is
aligned with what customers actually want (B). This approach is consistent with the principles of empiricism and agility, which emphasize the importance of
transparency, inspection, and adaptation123.

NEW QUESTION 3
Why should the Product Owner care that the Developers adhere to the Definition of Done? (choose the best two answers)

A. To influence the Total Cost of Ownership of the product.

B. To have transparency into what has been done at the end of each Sprint.

C. To be able to reprimand the team when they do not meet their velocity goal for the Sprint.
D. To ensure the Developers achieve a high level of productivity over time.

Answer: AB

Explanation:

* A. To influence the Total Cost of Ownership of the product: Adhering to the Definition of Done ensures that the product meets the required quality standards,
which can influence the Total Cost of Ownershipl.

* B. To have transparency into what has been done at the end of each Sprint: The Definition of Done provides a shared understanding of what work was
completed and what standards were met as part of the Increment2. This creates transparency and allows the Product Owner to understand what has been
accomplished at the end of each Sprint12.

NEW QUESTION 4

Your stakeholders are very demanding and each of them has at least one feature that they say is essential for the next release. As the Product Owner, you have
validated that the feature

requests are all valid requests and would likely add value to your product. What should you do? (choose the best answer)

A. Escalate to the steering committee to make the call.

B. Wait until all essential features are complete before releasing the product.

C. Release when you can satisfy at least a single outcome, even though not all featuresare implemented.
D. Pick the two most influential stakeholders and satisfy their needs, then release.

Answer: C

Explanation:

* Focus on Value: Scrum emphasizes delivering increments of value early and often. Each release should focus on a clear outcome for users, even if it doesn't
encompass every desired feature.

* |terative Approach: Releasing a smaller, focused increment lets you gather feedback, course-correct, and add features incrementally based on what provides the
most value.
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* Stakeholder Management: Involve stakeholders in the prioritization process, explaining the rationale behind focusing on a specific outcome to gather input and
secure buy-in.

NEW QUESTION 5
Which of the following activities should a Product Owner never do? (choose the best answer)

A. Decide when to release the product Increment.
B. Dictate the Sprint Goal.

C. Accept work done during the Sprint.

D. Establish a Product Goal.

Answer: B

Explanation:

According to the Professional Scrum Product Owner™ || certification guidel, the Sprint Goal is the single objective for the Sprint. It is a commitment made by the
Scrum Team during Sprint Planning. The Sprint Goal provides guidance to the Developers on why it is valuable to build a coherent Increment. The Product Owner
proposes how the product could increase its value and utility in the current Sprint. The whole Scrum Team then collaborates to define a Sprint Goal that
communicates why the Sprint is valuable to stakeholders. The Product Owner should not dictate the Sprint Goal, but rather collaborate with the Developers and
the Scrum Master to create a shared understanding and alignment. The other options are not activities that a Product Owner should never do, because they are
either part of the Product Owner’s accountabilities (A, C, D) or may be done in collaboration with others (A, D). References: 1: Professional Scrum Product
Owner™ || Certification | Scrum.org

NEW QUESTION 6
If burndown charts are used to visualize progress, what do they track? (choose the best answer)

A. Work remaining across time.

B. Accumulated cost.

C. Accumulated business value delivered to the customer.
D. Individual worker productivity.

Answer: A

Explanation:

A burndown chart is a graphical tool that shows the amount of work remaining versus time. It is often used to track the progress of a Sprint or a release. The work
remaining is usually measured in terms of effort, such as hours or story points, and it is plotted on the vertical axis. The time is measured in terms of days or
weeks, and it is plotted on the horizontal axis. The burndown chart starts with the total amount of work at the beginning of the Sprint or release, and it ideally ends
with zero work at the end. The slope of the burndown chart indicates the rate of progress, or the velocity, of the Scrum Team12.

The other options are not what burndown charts track. Accumulated cost, accumulated business value, and individual worker productivity are not relevant or useful
metrics for Scrum Teams, as they do not reflect the value or the quality of the product. Scrum Teams focus on delivering potentially releasable increments of the
product that meet the Definition of Done, and they use empirical feedback to inspect and adapt their

work13. References: 1: Understanding and Applying the Scrum Framework 2: Burndown Chart 3: Products with Agility

NEW QUESTION 7

You are the Product Owner for a product with diverse stakeholders with differing opinions that sometimes conflict.

Your Director of Marketing strongly believes that you should add a major new feature to reach a new market. Your CEO believes that the new feature is too
expensive and thinks you should focus on other features to make existing customers happier. The CEO says that as Product Owner it is ultimately your decision.
You think both perspectives have merit, but you cannot do both. How should you proceed? (choose the best answer)

A. Devise an experiment that will help the company to better understand the new market and its potential.

B. Trust the Director of Marketing's opinion and add the features; when revenues increase, you will be vindicated.
C. Better understand the positions of other stakeholders to gather more information, then make a decision.

D. Trust the CEQO's opinion and focus on current customers, since you cannot afford unhappy customers.

Answer: A

Explanation:

= As a Product Owner, you are accountable for maximizing the value of the product and the work of the Developers. To do this, you need to have a clear vision of
the product and its target users, as well as a validated understanding of the market opportunities and risks. You also need to collaborate with stakeholders and
customers to align their expectations and feedback with the product goals and strategy.

In this scenario, you face a dilemma between pursuing a new market segment or satisfying the existing customers. Both options have potential value, but also
uncertainty and trade-offs. The best way to proceed is to devise an experiment that will help you to test your assumptions and learn more about the new market
and its potential. This could be a small-scale release, a prototype, a survey, or any other method that can provide you with empirical evidence and feedback. By
doing this, you can reduce the risk of investing in a feature that may not deliver the expected value, and also gain insights that can help you to refine your product
vision and backlog.

This approach is consistent with the principles of agile product management, which emphasize delivering value early and often, validating hypotheses with data,
and adapting to changing customer needs and market conditions. It also demonstrates your ability to apply the Scrum values of openness, courage, and respect,
as you are willing to explore new possibilities, challenge your own opinions, and involve your stakeholders and customers in the decision-making process.
References := Scrum Guide, Managing Products with Agility, Evidence-Based Management

NEW QUESTION 8

Your product's nearest competitor has lower market share, but has higher customer satisfaction, though they lack some key features of your product. You are
losing market share to them as customers discover them. They release 3 times faster than you, which is helping

them to win customers. What should you do first in response? (choose the best answer)

A. Add features to your next release that you think will retain and win customers.

B. Lower your product's price to make it more attractive to new and existing customers.
C. Improve your time-to-market and rate of innovation to improve your responsiveness.
D. Find new markets for your product that your competitor is not yet in.
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Answer: C
Explanation:

Verified Answer: C

Very Very Short Explanation: According to the PSPO Il guidelines, the focus should be on improving

time-to-market and rate of innovation to enhance responsiveness ©. This aligns with the principles of agility and Scrum, which emphasize the importance of
delivering value quickly and responding to market changes123. By improving these areas, you can better meet customer needs and compete more effectively in
the market.

NEW QUESTION 9
What percent of the time should a Product Owner dedicate to the Scrum Team? (choose the best two answers)

A. 100%.

B. Enough time to avoid the waste that is created by delaying answers to the Developers.
C. As much as the stakeholders want to budge

D. Business analysts take over the role the rest of the time.

E. 40%, or more if the stakeholders agree.

F. Enough time to ensure that the product Increment is valuable and useful.

G. Just enough time to keep the Developers from complaining.

Answer: BE

Explanation:

B is correct because the Product Owner is accountable for maximizing the value of the product and the work of the Developers1, and delaying answers to the
Developers can cause waste, rework, and missed opportunities2.E

is correct because the Product Owner is responsible for ensuring that the product Increment is valuable and useful for the stakeholders and customers3, and this
requires close collaboration and feedback with the Scrum Team and the users4.A is incorrect because the Product Owner does not need to dedicate 100% of their
time to the Scrum Team, as they also have other accountabilities such as engaging with the market, managing the product vision, and aligning with the business
strategy5. C is incorrect because the Product Owner is not a proxy for the stakeholders, and they should not delegate their role to business analysts or anyone
else. D is incorrect because the Product Owner does not need the approval of the stakeholders to decide how much time they spend with the Scrum Team, as they
are empowered to make the best decisions for the product. F is incorrect because the Product Owner should not base their time allocation on the complaints of the
Developers, but on the value and quality of the product.

NEW QUESTION 10

You have been a Product Owner at a new company for a few weeks. It has become clear to you that many people, both inside and outside the Scrum Team,
expect close involvement in the decisions that you, as a Product Owner, are accountable for.

As a result, you find that it takes too long to make decisions. Which of the following are reasonable options you could take? (choose the best three answers)

A. Start making all the decisions without consulting the others who have expressed interest.

B. Allow other members of the Scrum Team and stakeholders to continue making decisions they are not accountable for; documenting which decisions do not
deliver the intended value.

C. Create and share a delegation board that displays your decision-making areas and work with your Scrum Team to clarify decision making accountability and
responsibility.

D. Work with your Scrum Master to better understand what next steps you can take to move the company's understanding of product ownership up in the maturity
curve towards Entrepreneur.

E. Demonstrate, with the help of data, how long it is taking you to make decisions and the impact that the long decision-making cycle has on delivering value to the
customer.

Answer: CDE

Explanation:

As a Product Owner, you are responsible for making decisions that maximize the value of the product and align with the product vision and strategy. However, you
also need to collaborate with the Scrum Team and the stakeholders, and respect their input and feedback. Making decisions without consulting them or allowing
them to make decisions they are not accountable for can lead to confusion, conflict, and waste. Therefore, options A and B are not reasonable.

Option C is a reasonable option because it helps you communicate your decision-making areas and delegate some decisions to the appropriate level of the
organization. A delegation board is a tool that shows who has the authority to make which decisions, and how much involvement is expected from others. By
creating and sharing a delegation board, you can clarify your role as a Product Owner, empower the Scrum Team and the stakeholders, and reduce the time and
effort spent on decision making.

Option D is also a reasonable option because it helps you improve the company's culture and mindset towards product ownership. As a Product Owner, you need
to act as an entrepreneur, who is able to innovate, experiment, and validate assumptions. However, not all organizations are ready to support this kind of product
ownership, and some may have a more traditional or bureaucratic approach. Working with your Scrum Master, you can identify the gaps and barriers that prevent
you from being an effective Product Owner, and take steps to overcome them. For example, you can educate and coach the organization on the benefits of agile
product management, create a shared product vision and roadmap, and foster a culture of trust and transparency.

Option E is another reasonable option because it helps you demonstrate the value of your decisions and the cost of delay. As a Product Owner, you need to use
data and evidence to support your decisions and measure their impact. By showing how long it is taking you to make decisions and how that affects the delivery of
value to the customer, you can justify your choices and persuade others to support them. You can also use data to identify the most important and urgent
decisions, and prioritize them accordingly. This way, you can avoid analysis paralysis and focus on delivering value faster and more frequently.

NEW QUESTION 10

A user satisfaction gap exists when there is a difference between: (choose the best two answers)
A. The total market size.

B. The user's desired outcome.

C. The market share of the product.

D. The user's actual experience.

Answer: BD

Explanation:
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A user satisfaction gap exists when there is a difference between what the user expects from a product or service and what the user actually experiences12.The
user's desired outcome is the goal or benefit that the user wants to achieve by using the product or service3.The user's actual experience is the perception and
evaluation of the product or service by the user4. If the user's actual experience does not meet or exceed the user's desired outcome, the user will be dissatisfied
and may switch to a different product or service.Reference:

1:1dentifying and Closing the Customer Satisfaction Gap

2:Find the Gaps in Your User Experience

3: [Outcome-Driven Innovation]

4: [User Experience]

:Measure Business Opportunities with Unrealized Value

NEW QUESTION 14
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